Astronomy 2 Tutorials session 2002-03

Tutorial 9 Model Answer
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Value = 1023 x 10-20 x 5 x 10-7 x 43  =  2.1 x 10-2

((coll / ((TH will be larger for long  (radio, infra-red) and for heavier atoms (high mA).
4.9    As the spectral class is the same, the temperatures are approximately the same. Assume that the extremes in luminosity class both behave as black body radiators, so that 
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A UV Ceti star is a dwarf M-class, occasionally displaying the Balmer lines in emission (dMe). Flare activity occurs in the space of minutes with recovery over a few hours. During the activity, the Balmer lines go into emission and radio emission is also detectable. The energy in the outburst is ~ 104  or 106 times stronger than the solar flare. Typical increase in brightness ~ 1.5 mag. 

In quiescence:
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At outburst:
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Hence,
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